SN HSD
B AUt

e ME353E8 HEs 54 (&2l &)

SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
= 52,977,849 60,255,136 NT,277,287
Xl 13,106,000
| 3,107,153
o= 36,764,696
LS M W6 RS A (B 2Z/HS) 52,948,624 60, 192,036 AT,243,412
Xl 13,106,000
Il 3,107,153
o= 36,735,471
HEES=SE Hgs 84 7,679,306 7,131,882 547,424
HNEEs adst 7,500 8,220 ANT20
201 Yer2 | 1,500 1,500 0
01 At 2teltl 1,500 1,500 0
029 2¥=3 7Y 500
OZJAMESESAIZ T M= 1,000
202 ¢4l 6,000 6,720 AT20
01 S LHOYI 6,000 6,720 ANT20
OM=dEYSR A& 5,000
OsH &w -84 54 K& 1,000
T AYSSYIIR 29 6,711,806 6,425,662 286, 144
201 2 EH2EHI 307,000 327,280 220,280
01 At22t2lbl 242,000 262,280 220,280
Q3JNE AEZ 40,000
oFHl & 2EEF 7¥ 180,000
OXtg & Xtdl 20,000
ORQUIHIANAH 292 2,000
02 3323l 65,000 65,000 0
OATHY H3lHl 10,000
0332= 55,000
301 et ag 6,404,806 6,098,382 306,424
VU= - 2SFSE43 6,404,806 6,098,382 306,424
Q&+ ¥ XSX 212t 4,467,563
OJles 2,601,780
E=N; 463,476
- 2,138,304
O=24ld| 469,800
(OFSF= L= 216,865
Ozdg=sd 313,200
OYE S| 260,238
Ozel==g 325,200
4= 19,200
-3 X 6,000




2N S
28t

A AL HS Y=E LA HE (S 22/HE)
e ME353E8 HEs 54 (&= d&)
SA - B SRA(SH) - MRAY - BAS 04 4t o e HIDE2
- 300,000
O&E=E 16,080
- = Xt 10,560
-S22LIE 5,520
O==l 104,400
Oxaz= 160,000
O&XIEd L CHalEIt| 800,000
(OFSPNRIS s 400,000
—=l=z= 160,000
==& 240,000
OU=E ot 400,000
-= U 160,000
=2 240,000
O3t 550,000
OEERE= 432,243
GRS 155,000
SHSYZ Uy HA4+84 960,000 698,000 262,000
307 gIztol & 200,000 200,000 0
02 QB AMANHEE 200,000 200,000 0
ONBZ I K& 200,000
703 WFHISEAAHNEES 760,000 498,000 262,000
01 HEHES 760,000 498,000 262,000
Ostu & &= K& 760,000
M=IIEAIE &3 23,536,000 30,784,866 AT ,248,866
N 13,106,000
< 10,430,000
H=AlE &5 243t 9,000 9,866 A 866
202 Ol 9,000 9,866 A 866
01 2LHAYI 9,000 9,866 A 866
OSEMSALY HEs2 & HAFH 2,000
OSSHEAE ALY =4 7,000
SSHSAE &5 3,385,000 4,420,000 A 1,035,000
403 UHXISHH S =0l 3,385,000 4,420,000 A 1,035,000
01 "XIESMAEE X 3,385,000 4,420,000 A 1,035,000
OMb522 S2ME HINE M2+ 1,500,000
O=# EHstel ALHAHOIEZE & F 250,000
OH= XNEH dEMSALE X 20,000
OF=F =2 - R4 HEMSAE HES 100,000
O%¥=F XN&EH N 52 x4 20,000
OHF RS HEMSAME HE=> 50,000




SR
X ZH -
[

SEE

AAE s =5 ARE M (L2222 /HS)
HSIIBAIL &5

EERED

SA B ER(S) - MRAE - BaS Of &r e HIDE

OE Zd1s =X0IE=SE EH 25,000
OFd 248 =32 x4 200,000
Oty =8& 28 N& 450,000
O FH=cl UZBSEMSAE X 150,000
028 #&8% 571& =4 35,000
OB =& (tHzd)el2gd 150,000
OFF AxH Ll EMSAE HE> 100,000
OF= HFH M= HOE=H AXHCEX 25,000
O e Al HOESE HEY 250,000
028 AdEs Zus dENMISAE £X 30,000
0ZE U=s =& Jbl 30,000

HSAE fE2c 1,410,000 1,400,000 10,000

403 X HHS =01 A 1,410,000 1,400,000 10,000

02 SISOt A=A T AL HI 1,410,000 1,400,000 10,000
OSHAZ=AIE A2 1,410,000

EX SEY MEHSBY X4(2D) 734,000 586,000 148,000
X 500,000
T 234,000

403 AHRISHS K201 734,000 586,000 148,000
X 500,000
T 234,000

01 XM= Ex 734,000 586,000 148,000
O8d F&H dEXssH =4 734,000
X 500,000
T 234,000

24 HiolAS HOHZE 24(=2) 706,000 4,467,000 A3,761,000
X 481,000
T 225,000

403 MHRISHSA201A 706,000 4,467,000 A3,761,000
X 481,000
T 225,000

01 XS ExE 706,000 4,467,000 A3,761,000
O&4d Hiolx~= HIOtHE =4 706,000
X 481,000
T 225,000

2 ZE2SH A€ (=1) 1,980,000 2,507,000 A527,000
X 1,350,000
T 630,000

403 MHRISHSA201A 1,980,000 2,507,000 A527,000
X 1,350,000
T 630,000

01 XS ExE 1,980,000 2,507,000 A527,000
oY SY=sE HE 1,980,000
X 1,350,000




2AMd: MsH
F

I JAYS HS Y=o YAC A (SSUDH/US)
Eel: MFIIEAIE &5 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2

| = 630,000

Eie SXDA2SE =4(=1) 1,466,000 1,466,000 0
Xl 1,000,000
T 466,000

403 XIS S AHE01 A 1,466,000 1,466,000 0
Xl 1,000,000
& 466,000

01 AXESHMA2EER 1,466,000 1,466,000 0
Ot X NA 2T =4 1,466,000
Xl 1,000,000
T 466,000

24 U SEg2sdsde A8 (=1) 1,012,000 660,000 352,000
Xl 690,000
< 322,000

403 XIS S AHE01 A 1,012,000 660,000 352,000
Xl 690,000
& 322,000

01 AXESHMA2EER 1,012,000 660,000 352,000
Ogd =l Se2atdsdE AE 1,012,000
Xl 690,000
< 322,000

HE 28 d=s3d x4(=1) 1,210,000 1,210,000 0
Xl 825,000
T 385,000

403 XIS S AHE01 A 1,210,000 1,210,000 0
Xl 825,000
& 385,000

01 AXESHMA2EER 1,210,000 1,210,000 0
OB BENE3¥ =4 1,210,000
Xl 825,000
T 385,000

2y 2 MENSSE ZAME(212) 880,000 0 880,000
Xl 600,000
< 280,000

403 UHXISHHSAHE01 A 880,000 0 880,000
Xl 600,000
& 280,000

01 AXESHMA2EER 880,000 0 880,000
Ogd & MEN=IE =4 880,000
Xl 600,000
< 280,000

Soi BESIIE EAME(=1D) 880,000 0 880,000
Xl 600,000
< 280,000

403 XIS SAHE01 A 880,000 0 880,000
Xl 600,000




o
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[:&&)

k=4 pal

pym
JgH

H

280,000

0x

=

880,000
880,000

600,000
280,000

880,000

N
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440,000

300,000
140,000

440,000

=

440,000

300,000
140,000

440,000

N

H

440,000
440,000

300,000
140,000

440,000

=

308,000

210,000
98,000

308,000

0

308,000

210,000
98,000

308,000

=

308,000
308,000

210,000
98,000

308,000

=

660,000

450,000
210,000

660,000

403 A XIEHHSA=01 S

0

660,000

450,000
210,000

660,000

n =

660,000
660,000

450,000
210,000

660,000

N

H

220,000

150,000
70,000

220,000

0

220,000

150,000
70,000

220,000

N

H

220,000

220,000

150,000
70,000

220,000




2N S
st

M A28 M= HSE LT A (2L2Z/HS)
tel: MSFIIBAIE &5 CERED)
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T

- AL BHEQIHZDIE &4X 1,320,000 1,320,000
Xl 900,000
& 420,000

403 MRS S =01 A 1,320,000 1,320,000
Xl 900,000
& 420,000

01 AXISHMA=2E L 1,320,000 1,320,000
oY+ Al BHEDIEA 1,320,000
Xl 900,000
& 420,000

Ol RSCHREISE 208( 146,000 146,000
Xl 100,000
& 46,000

403 MRS S X201 A 146,000 146,000
Xl 100,000
& 46,000

01 AXISHMA=2E L 146,000 146,000
QoM & s8N 146,000
Xl 100,000
& 46,000

X =5 AR Z4(2D) 2,200,000 2,200,000
Xl 1,500,000
& 700,000

403 MRS S K201 A 2,200,000 2,200,000
Xl 1,500,000
& 700,000

01 AXISHMA=2E L 2,200,000 2,200,000
O E sg AXXHX 2,200,000
Xl 1,500,000
& 700,000

B4 DRI4PE FH(2D) 836,000 836,000
Xl 570,000
& 266,000

403 MRS S K201 A 836,000 836,000
Xl 570,000
& 266,000

01 AXISHMA=2E L 836,000 836,000
OEHE NR4PE =4 836,000
Xl 570,000
& 266,000

ger =& A (=1) 1,232,000 1,232,000
Xl 840,000
& 392,000

403 MRS S K201 A 1,232,000 1,232,000
Xl 840,000
= 392,000




2N S
st

I JAYS HS Y=o YAC A (SSUDH/US)
tel: MSFIIBAIE &5 CERED)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
01 AXESHMA2EER 1,232,000 0 1,232,000
OgE Sg& AE 1,232,000
Xl 840,000
T 392,000
DY HAENSSW MAXC 2SE TH(31) 350,000 0 350,000
Xl 350,000
403 MRS S K201 A 350,000 0 350,000
Xl 350,000
01 AXESMA2EER 350,000 0 350,000
oY s A 23 =4 350,000
N 350,000
=2 QX2 UXAC SEE FH(21) 350,000 0 350,000
Xl 350,000
403 XXM S X201 & 350,000 0 350,000
N 350,000
01 AXESHMA2EZR 350,000 0 350,000
O&Z 2Xle| X&) 2sF =4 350,000
Xl 350,000
SH AY MEINSIY X4(31D) 660,000 0 660,000
Xl 450,000
& 210,000
403 MRS S K201 A 660,000 0 660,000
Xl 450,000
o= 210,000
01 AXISHMA=2E L 660,000 0 660,000
OEd MY MENSZSE Z4(=32) 660,000
Xl 450,000
& 210,000
Y LZLHOIESH THAL 440,000 0 440,000
(21)
Xl 300,000
& 140,000
403 MRS S X201 A 440,000 0 440,000
Xl 300,000
& 140,000
01 AXISHMA=2E L 440,000 0 440,000
OFEZ ZLUAOIE=ZE ZHAI(=1) 440,000
Xl 300,000
& 140,000
6 SEHYH D330 Z4AE(=21) 352,000 0 352,000
Xl 240,000
& 112,000
403 MRS S K201 A 352,000 0 352,000
Xl 240,000
& 112,000




SN HSD
M AUt

Col: HSIIAE BB T CLEED
SN B ERI(B) - MSAY - BeS 0l &t e HIRE2
01 AXESHMA2EER 352,000 0 352,000
OXHd SEH MA=SZE ZHAMYE(=2D) 352,000
Xl 240,000
= 112,000
ZEWE HHN0 28 =4(=21) 350,000 0 350,000
Xl 350,000
403 MRS S K201 A 350,000 0 350,000
Xl 350,000
01 AXESMA2EER 350,000 0 350,000
OZENS dHEL 2SE =4 350,000
Xl 350,000
ZZAIE 21510t XI& 15,000 22,349 AT7,349
AL 21510t NI~ 15,000 22,349 AT,349
201 LBt 7,000 10,469 A3,469
01 AFR 22l bl 7,000 10,469 A3,469
QI3 2g 7,000
202 04dl 8,000 11,880 A3,880
01 =20 YI 8,000 11,880 A3,880
OelsIl RFA 8,000
d=ls NE & &M =4 18,060,900 18, 168,852 A 107,952
| 30,000
T 18,030,900
T &5 MEEHA 29 - XN 14,627,600 14,633,800 26,200
307 SIZt0I A 14,627,600 14,633,800 26,200
02 SIZHAAMAIHE X 11,549,400 11,599, 160 A49,760
T HM=s3 X 9,938,800
T Zoeld=ss X 1,358,800
O MEN=3 XA 251,800
03 QIZIHHHMEHE2EEIE X 3,078,200 3,034,640 43,560
Ok =3 XN 1,543,000
Ok Zoex=3 XA 667,000
O MEN=3 XA 868,200
NS 43t 53,800 53,800 0
202 (44l 3,600 3,600 0
01 S LHOYI 3,600 3,600 0
O M=&s X2 3,600
307 2IZ2t0I A 50,200 50,200 0
04 DI2FEHALALSE E = 50,200 50,200 0
OZ0e M=Usl K& 50,200
st 243t 14,500 16,252 A1,752




Sk
I‘Iil-l:
cHe: X

(&4

SA B ER(S) - MRAE - BaS Of &r e HIDE
201 229y 1,500 1,500 0
01 At 22l 1,500 1,500 0
Oola==x &4l & =% S MH 1,500
202 04H| 13,000 14,752 N1,752
01 =W A 13,000 14,752 N1,752
OM=Ua Nzl X FIHXE 12,000
OMEHM 54 K& 1,000
Zofel MEH=SUE Hz(212) 60,000 50,000 10,000
Jl 30,000
= 30,000
307 212tol & 60,000 50,000 10,000
Jl 30,000
< 30,000
04 QIZFSHAAIRI 2 X 60,000 50,000 10,000
OFO M=zl Nzl 60,000
Jl 30,000
= 30,000
JECUEZEH (L) 245 N 2,000,000 2,000,000 0
307 212tol & 2,000,000 2,000,000 0
02 Ut HAHBE X 2,000,000 2,000,000 0
O &FC 2¢ XN& 2,000,000
d=dadsUEd 0 A3 150,000 190,000 240,000
307 21z2tol A 150,000 190,000 240,000
02 QIZtB A E X 150,000 190,000 40,000
OF Il 150,000
ZECCMENSUH HEXE 140,000 140,000 0
307 el2tol & 140,000 140,000 0
04 QIZFSHAAIH B X 140,000 140,000 0
OZATMENFUS MHE XA 140,000
HEH=F SSEUS ot A& 120,000 120,000 0
307 212tol & 120,000 120,000 0
02 Ut HAHE X 120,000 120,000 0
O A=t HEMSUa Fotdl X& 120,000
dEME % MU N2 492,000 492,000 0
307 212tol & 492,000 492,000 0
04 QIZFSHAAIRI 2 X 492,000 492,000 0
OZJTXIADI(H) B=E MU X2 492,000
Aelld MSHA X 383,000 378,000 5,000
307 212tol & 383,000 378,000 5,000




-

KIo

Hlw

5,000

20,000
20,000
20,000

A379,736

LH3r
uiEd
RES

378,000

3,856,654

216,000
216,000
216,000

73,064

14,834

14,834

Ofl & 24

383,000
20,000
56,000
15,000
80,000
16,000
14,000
14,000
17,000
13,000
22,000
16,000
14,000
18,000
35,000
16,000
12,000

5,000
20,000

20,000
20,000
20,000
3,476,918
3,077,153

Jl

iy

216,000
216,000
216,000
216,000
73,064
65,647
7,417
14,834
7,417
7,417
14,834
14,834
7,417
7,417
58,230
58,230
58,230

399,765
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01 Xt
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01 Xt
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308 XFXIEHA
01 Xt




2M: M
M A28 M= HSE LT A (2L2Z/HS)
ol METS CUIHG = (= RED
SN BB S(EA) - MBAY - BAS 0] &k o8 e HlmE2
OdEN=s 2IXNE 58,230
| 58,230
MEXFXN A UIXI(=1) 1,330,236 1,323,696 6,540
| 1,330,236
308 AHXISHHSOI& 1,330,236 1,323,696 6,540
| 1,330,236
01 AXSHMBAEEZ 1,330,236 1,323,696 6,540
oMM =X X i X 1,330,236
| 1,330,236
HEd Megs NA(=22) 1,156,518 1,101,704 54,814
| 1,133,541
& 22,977
307 SIZt0I A 45,954 45,176 778
| 22,977
& 22,977
02 SIZtAAMAIHE X 45,954 45,176 778
onzd M=sgs N 45,954
| 22,977
& 22,977
308 XXM SO0l 1,110,564 1,056,528 54,036
| 1,110,564
01 IXESHBAEES 1,110,564 1,056,528 54,036
oOnzd HN=&gs N 1,110,564
| 1,110,564
MEHIRH™ At (=12) 665, 100 596, 190 68,910
| 547,729
= 117,371
308 At XIHHMSOIH 665, 100 596, 190 68,910
| 547,729
= 117,371
01 AXHMBLAEES 665, 100 596, 190 68,910
OQAZ=EHISH™ AIE XI& 665, 100
| 547,729
= 117,371
=Y AZXZ2E 2JM X 36,000 36,000 0
307 2IZ2t0I A 36,000 36,000 0
02 SIZtAAMAIEE X 36,000 36,000 0
0328 AXZ=ZE 22H XA 36,000
s 2wz 2435 180,500 227,433 AN46,933
ZHM=0F 180,500 227,433 A46,933
201 LB 40,000 54,410 A 14,410
01 AbS 22|l 5,000 12,880 AT,880
O=HMA=sSnF 5,000




A HsD
M A28 M= HSE LT A (2L2Z/HS)
&el: Mg FHnE #4dst (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
03 HAH2ZHI 35,000 41,530 26,530
O=HMASwF 35,000
202 (44l 1,500 1,500 0
01 =LHOYI 1,500 1,500 0
O=HMA=sSnF 1,500
301 et azg 139,000 165,523 226,523
06 S12tel=2] 04| 89,000 33,800 55,200
O=HMELF 89,000
07 2el=& 0l 31,000 110,250 AT79,250
O=HMA=sSnF 31,000
09 HALAHIE &3 19,000 21,473 A2,473
O=NMELF 19,000
HESHAHI(MSD)(OIEH/IIE}) 29,225 63,100 A 33,875
Jl2Zl 29,225 63,100 A 33,875
PHM2E JI=23| 29,225 28,000 1,225
201 Y EH2 | 18,425 18,500 AT5
01 At 22|l 18,425 18,500 AT5
OFN2E AtR22(H| 18,425
202 (44l 7,800 6,500 1,300
01 =LHOYI 7,800 6,500 1,300
OFM2E SN 7,800
203 R F&Hl 3,000 3,000 0
04 RN2ILRFAH 3,000 3,000 0
©15¢21 Ol ot 250,000& x12& 3,000




